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— ~ (40%) Consider this model that the household lives for two time
period, t = 1,2. The household’s preference function is: U(cy, Cy) =
u(cy) + Bu(c,) where ¢y, ¢, denote as the consumption for the first and

second pericd. B is the discount factor.  The household’s budget

constraints are

py1 = PCl + bl n period 1 and

Py, + b (1 + R) = Pc, in period 2,
where b, is the first period bond holding, P is the price level and R is
the interest rate.  Assume U(cy) = In(cy) and U(cy) = In(cy).
(1)(10%) What is the optimal consumption for the first period?
(2)(10%) How about the consumption for the second period 1f the interest
rate goes up?
(3)(10%) What is the optimal demand for bond?

(4)(10%) What is the interest rate that clears the bond market?

~ ~ (30%) Consider a household with a utility function over consumption

C and effort L of the forni:U(C, 1) = 2v/C L. The household’s income

takes the form: y(L) == wlL where wis the wage rate. Assume the tax
policy is H(L, ) = ty(L).

(1) (10%) What is the government revenue function?

(2) (10%) Does this system exhibit a Laffer curve?

(3) (10%) Now if the government introduces 2 lump-sum tax of amount,

1;, does this system exhibit a Laffer curve?
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= ~ (30%) In the boak “Capital in the Twentieth Cen.fw*y” written by

Thomas Piketty, please answer the questions using the following notation:
Y is the national income, K is the capital stock, r is the real rate of return {

on capital, s is the saving rate, g is the growth rate of Y, k is the time

2
(1) (10%) What is the First Fundamental Law of Capitalism? m

(2) (10%) What is the Second Fundamental Law of Capitalism? LY
(3) (10%) What are good reasons to think that in the 21st century?
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derivative of K, and y is the time derivative of Y. ' ‘[
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